normalized X?

[ normalized x? probability |

Entries 320692

| T
10 ; e
Er.mms ;20485
1072 g";""[’;w 0.6195 e
1073k
107F
10°F
.91056-...i...i. i i i | i i i o
I I
o [» @
R
JOU S T PR S T S S N S N L R R IR
"0 2 4 6 8 10 12 14 16 18 20 “0 010203040506070809 1
Na Prob(x?)
== DQM_TT__mkFit-DQM_original
= DQM_TT__mkFit-DQM_updated
A2 =
5 F N B
2 F . A
Z 1.8 PR A P -
< [ . a
R S R ARETET REPEY FEPE o
L o
1.4 v
1.2
1 :
0.8] :
0.6 :
I i i i i i
2 . . . . . o
§ : : : : : § H
i +H+ﬁ*“¢*+t“#ﬂ#wmmmw+ﬂ*ﬂmé’***; H-
: : : : Do 0.5H]
0BT 0 I 2 3 093 - 0 2 3
n TP n (PCA to beamline)
A A E
S 2 18f-
Y 3< 1.6f-
\ v F
1.4~
1.2F
-
0.8F-
0.6F
0.4F
0.2F
o o QF
© ©
v @
0.5
X : 0
10 1 10 10? pw3 107 1072 ) 15)’1
T AR(track, jet
g :
A e
- 3
o " | .
F :
o :
° O | P
\ . <
R ;
g £ TH-HEEE - -
[OX:] S - 11 1 N R
101 1 10 102



	Contents
	Page 1


